EAST POINT SCHOOL

ASSIGNMENT
COMMERCE DEPARTMENT

- BUSINESS STUDIES https://www.youtube.com/watch?v=4beZwVTCOQM
- ECONOMICS https://youtu.be/He8mbL Sybl , https://youtu.be/ehOEmmznATo

SCIENCE DEPARTMENT

— CHEMISTRY https://youtu.be/LKM plw --s
HUMANITIES DEPARTMENT

- LEGAL STUDIES https://www.youtube.com/watch?v=j9gpxi5hVP8

- PSYCHOLOGY https://www.youtube.com/watch?v=svim4zSQsjY &feature=youtu.be
— HISTORY https://www.youtube.com/watch?v=_rBIW43-fc4

ENGLISH https://youtu.be/ddNWSy0OFqj0

OPTIONAL-II

— HINDI https://youtu.be/IXuvW_VTyrk

- PAINTING https://www.youtube.com/watch?v=0bVXEaz320I

ENGLISH

‘AUNT JENNIFER’S TIGERS’ BY ADRIENNE RICH

Q.1 What is the theme of the poem ‘Aunt Jennifer’s Tigers’?

Q.2 What is Aunt doing in the poem?

Q.3 What all qualities of the tigers are highlighted here?

Q.4 What are Aunt Jennifer’s fingers busy with?

Q.5 What are Aunt’s tigers doing?

Q.6 What are aunt’s tigers in actuality?

Q.7 What is the color of Aunt’s tigers?

Q.8 What does ordeal here refer to?

Q.9 What does the word ‘chivalric’ here in the poem mean?

Q.10 What’s the function of art as per the narrator?

Q.11 Why has the narrator compared tigers with the Aunt?

Q.12 State the rhyming scheme of the poem.

Q.13 Who are the denizen of the green world?

Q.14 Find out the poetic device in “Fingers fluttering, prancing proud”.
Q.15 Which poetic device is used here in “heavy wedding band”?

Q.16 Find poetic device used in “ringed with ordeal”.

Q.17 How tigers are different from Aunt Jenifer?

Q.18 “The weight of husband’s wedding ring”, find poetic device used here?
Q.19 Give meanings: (1) prance (2) pace


https://youtu.be/He8mbL_SybI
https://youtu.be/ehOEmmznATo
https://youtu.be/LKM_p1w_--s
https://www.youtube.com/watch?v=j9gpxi5hVP8
https://www.youtube.com/watch?v=_rBIW43-fc4
https://youtu.be/ddNWSy0Fqj0
https://www.youtube.com/watch?v=ObVXEaz320I

10.

MATHEMATICS
CLASS - XII MATHEMATICS (Vectors & Three Dimensional Geometry)

Is the measure of 5 seconds is scalar or vector?
Find the sum of the vectors.
a=i-2j+k, b=-2i+4j+5k c¢=i-6j-Tk
Find the direction ratios and the direction cosines of the vector
r=2i-7j-3k

Find the angle between vectors a and b if|{7| =43, |I;’ =2 ab=+6

G

Vectors a and b be such that |;1| =3, and |I;| = Tz.then axb is a unit vector.

Find angle betweena and b.

Find the unit vector in the direction of the sum of the vectors
a=2i+2j-5k, b=2i+j+3k

Show that the points A(2;'—}+I?).B(;—3}'—51:').C(3;—4)'—4I:-) are the
vertices of right angled triangle.

Show that the points A(—2;+3}'+SI:').B(;+2}‘+3I;)aml C(7;—I?) are
collinear.

If a,b,c are unit vector such that a+b+¢ =0 find the value of ab+b.c+c.a

If fc=2?+2}'+3l:. I;=—?+2}‘+I: .Z-=3;+}' are such that a+Abis Lto ¢ is

then find the value of 4.
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(1]
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ACCOUNTANCY
DISSOLUTION OF PARTNERSHIP FIRM

1. Journalise the following transactions regarding the settlement of creditors:
(i)  Creditors worth "10,000 accepted "4,000 as cash and machinery worth “8,000, in full settlement.
(i) Creditors were "4,000. They accepted computer valued at "5,000 in full settlement.
(iii) Creditors were "6,000. They accepted furniture valued at “8,000 and paid cash "2,000 to the firm.

2. What journal entries would be passed for the following transactions on the dissolution of a firm. If sundry
assets and outside liabilities have already been transferred to Realisation Account?
(i) There was an unrecorded asset of "5,000 which was taken over by C at "4,000.
(ii) Stock worth “7,000 was taken over by partner B.
(iii) Workmen’s compensation paid to employees by the firm "8,000.
(iv) Sundry creditors amounted to 4,000 were paid off at a discount of 4%.
(v) A typewriter completely written off in the books of accounts was sold for “700.
(vi) Y, a partner who undertakes to carry out the dissolution proceeding is paid 2,000 for the same.

3. P, Qand R are partners. They decided to dissolve their firm. Pass necessary journal entries for the following
after various assets (other than cash and bank) and the third party liabilities have been transferred to
Realisation Account.

a) There were total book debts of "38,000. A provision of bad and doubtful debts also stood in the books at
"3,000. Book debts 6,000 proved bad and rest paid the amount due.

b) A agreed to pay off his wife’s loan of 3,500 at a discount of 5%.

c) A laptop which was not recorded in the books was taken over by B at "1,500, whereas its expected value
was "2,500.

d) A contingent liability (not provided for) of "2,000 was also discharged.

e) The firm had a debit balance of "13,500 in the profit and loss account on the date of dissolution.

f) C paid the realization expenses of "7,500 out of his pocket and he was to get a remuneration of "9,000 for
completing the dissolution process.

g) Realisation expenses will be “borne” by P. For it he will be credited with "4,000. Firm paid actual
expenses amounting to “3,500.

h) Realisation expenses amounted to "6,000 of which 80% was paid by A and remaining by B. Entire
expenses are to be borne by the firm.

4. Show how will you deal with the following at the time of dissolution of the firm:

a) Workmen’s Compensation Fund stood at '12,000 in balance sheet and there was no liability in this
respect.

b) Workmen’s Compensation Fund stood at "16,000 and liability for it was ascertained at 21,000.

c) Workmen’s Compensation Fund stood at "23,000 and liability in respect of it was ascertained at "13,500.

d) There was no Workmen’s Compensation Fund was firm had to pay ‘4,500 as compensation to the
workers.

e) General Reserve and Provident Fund stood at "25,000 and 15,000 respectively.

f) Workmen’s Compensation Fund stood at *12,000 in the books and there was no liability in respect of'it.



BUSINESS STUDIES

Q1. Super Fine Rice Ltd. has the largest share of 55% in the market. The company’s policy is to sell only for cash.
In 2015, for the first time company’s number one position in the industry has been threatened because other
companies started selling rice on credit* also. But the managers of Super Fine Rice Ltd. continued to rely on it’s
previously tried and tested successful plans which didn”t work because the environment is not static. This led to
decline in sales of Super Fine Rice Ltd. The above situation is indicating two limitations of planning which led to
decline in it sales. Identify these limitations.

Q2. Suhasini, a home science graduate from a reputed college, has recently done a cookery course. She wished to start
her own venture with a goal to provide ‘health food” at reasonable prices. She discussed her idea with her teacher
(mentor) who encouraged her. After analysing various options for starting her business venture, they short listed the
option to sell ready made and ‘ready to make’ vegetable shakes and sattu milk shakes. Then, they weighed the pros and
cons of both the short listed options.

1. Name the function of management being discussed above and give any one of its characteristics.

2. Also briefly discuss any three limitations of the function discussed in the case.

Q3. ‘Agile Ltd.’ is a well-known automobile manufacturing company in India. The company plans to increase the sale
of its sedan cars by 20% in the next quarter. In order to achieve the desired target, the marketing team of the company
considers the impact of policy of the government towards diesel vehicles and the level of competition in this segment
of cars. They explore the various available options like offering more discount to dealers and customers, providing
more customer friendly finance options, lucky draws on test drives, increasing advertising, offering more of free
accessories on the purchase of the car, etc. A thorough analysis of the various available options is done keeping in view
the relative viability of each option. The company decides to pursue the option of offering more discount to dealers and
customers in order to boost the sale of sedan cars. In order to implement the plan, they determine the various discount
packages and communicate the same to their product dealers. To make the prospective consumers aware about the new
available benefits, advertisements are made through various sources of print and electronic media. The market analysts
of the company keep a close watch on the revenue from the sedan cars to study the effect of new initiatives by the
company to promote its sales. In context of the above case:

1. Name the function of management described in the above paragraph.

2. ldentify and explain the various steps involved in process the function of management as identified in part (a) by

quoting lines from the paragraph.

ECONOMICS
1. Which Five Year Plan recognised the importance of human capital?
a. Tenth
b. Seventh
c. Nineth
d. Sixth
2. Which of the following is an example of a curative medicine?
a. Spread of health literacy
b. All of these
C. Vaccination
d. Medical intervention during illness
3. Physical capital refers to

Stock of produced means of production

Process of acquiring and increasing the number of persons who have skill
Stock/shares of the companies

All of the above

oo



4. People of which age group are treated as productive labour force

a. 15-35
b. 60-70
C. 15-60
d. 0-6
5. How does human capital formation improve quality of life?
6. Bring out the difference between literacy and education as an important contributor towards Human capital
formation.
7. Literacy rates in India have increased but so has the absolute number of illiterates. Comment on the above
statement.
8. How expenditure on migration is a source of human capital formation?
9. How is health a source of human capital formation?

10.  How does investment in Human capital formation lead to Economic growth?

HISTORY
CHAPTER -10 COLONIALSIM AND COUNTRYSIDE

SHORT QUESTIONS

1.  Why was the permanent settlement of land revenue rarely extended to any region beyond Bengal? Give
two reasons.

2.  “The ryots came to see the moneylenders as devious and deceitful”. Justify the statement in the context of
Ryotwari System in India in late 18th century.

3.  The East India Company had recognised the zamindars importance but wanted to control and regulate
them. Explain the steps taken by them to subdue their authority in the 18th century.

4.  “The battle between the hoe and plough was a long one”. Substantiate the statement with reference to the
Santhal and Paharias of Raj Mahal Hills during 18th century.

5. What was the Limitation Law? Why was this considered as a symbol of oppression against the ryot of
19th century? Give three reasons.

6. “The arguments and evidences offered by the Fifth-report cannot be accepted uncritically”. Give
arguments
7.  “Jotedar inevitably weakened zamindars in Bengal by the end of the 18th century”. Give arguments to

support the statement.

8.  What was the other name of ‘Bombay Deccan revenue system of 1820s’. Mention the features of it.

9. Critically examine the experience of injustice felt by ryot on the refusal of moneylender to extending
loans to them after 1830.

10. Explain how the Ricardo’s idea of land ownership was introduced in the ‘Bombay Deccan’?

11. Explain the impact of American Civil War of 1861 on Indian peasants.

12. Explain the impact of refusal by moneylenders to extend loans to ryots, around 1865, under the colonial
rule of India

13. Explain two reasons for the failure of the Permanent Settlement of the land revenue introduced by the
British in Bengal.
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GEOGRAPHY

Topic: Planning and sustainable development in Indian contexts.

Mention two approaches of planning and define them.

Differentiate between target group and target region. Give examples also.

[llustrate the social benefits of ITDP IN Bharmaur tribal region.

List out the positive impact3of irrigation on Indira Gandhi canal command area.

‘The ecological sustainability of Indira Gandhi Canal Project has been questioned by various scholars ‘. Critically
examine the statement and throw light on the measures for promotion of sustainable development.

PSYCHOLOGY
PSYCHOLOGY
Chapter 01
1. What are the perspectives on individual differences? (3 marks)
2. What are the various definitions of intelligence? (3)
3. To equate giftedness with brilliant academic performance is not right. Explain. (3)
4.0n the basis of administration, tests are categorized into which 2 categories? Elaborate.(3)
5. What are the different competencies of intelligence according to Indian traditions? (4)
6. How creativity tests differ from intelligence tests? (4)
7. Explain variations in creativity. (4)
8. What is the difference between two broad approaches of understanding intelligence? (4)
9. What is the nature of psychological attributes, explain assessment and its types. (6)
10. What are the two factors affecting intelligence? (6)
11. How is aptitude different from interest and intelligence? How is aptitude measured? (4+2=6)
12. Riya is a 1.5 year old. Her mother observed that she shows larger attention span, good memory recognition,
preference for novelty, sensitivity to environmental change and early appearance of language skills. To what
category of intelligence she might belong? Discuss in detail. (6)

LEGAL STUDIES

Q1. Describe in two to three sentences any three salient features of fundamental rights in the Indian Constitution.

Q2. Why do you think the practice of untouchability was abolished, explain in one to two sentences?

Q3. Explain any one fundamental right of a person who is either accused or convicted of a crime.

Q4. What is right to equality? How does the right to equality protect a reservation or affirmative action for
government jobs to Schedule Castes and Scheduled Tribes?



POLITICAL SCIENCE




OPTIONAL 1l
HINDI

Question 1:

AT § S Id S8 SRATd 1 3Te! ol Tgdl & dd ATl o Sioiia TR 3T T UHId TSl 82

ANSWER:
HIca H ST e S8 SRAT] b1 gl il @l §, T AT ob SFToila TR FHPbT T6R1 YHIT TSl & | Ge ST
Bidl & | AreraT § Ry Td1-A1et Ul ¥ 4R 1 & | 81 b bl SRATA BT T =R H Ugd Oiiell ¢ | el Ageigl Sait
& | HTeTd] § o1 STSS], TTeTe, Y qUT derd] e U Y ASTes HR 91 & | S99 Hieal | A77ell ¢ fob 11ar b1 ge
FUIES & | T81 ! SRUTd B! e ATal DI THGRE §11 & |
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Question 2:
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ANSWER:
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@) SHNAHRT A YaTaR0 &) THI Ugdrl g | $HPb HRUT GATR0 H HIHR Sead ¢u- o fird g1 399 o,
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Question 3:
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ANSWER:
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Question 4:

HedT H fapaTiad, Hiet 3fR Ho RA9T & 9gd Usd g1 T¢I U1 & IERET4 b [T I 1 Jaiy T

ANSWER:
Exl TR qom BT HHIR BT JHIT 3R UM Bl Ab & I dgadR SauH ﬁo‘Ql REHE chb forT g9 uga
81 R IS, $U, S1af$al o1 Fufur Sam| 39 ave 98 sRATd &1 UM o a6’ TG Jhd A1 I8 I ) a8
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Page No 47:
Question 5:

THRY 31Tl B JIAT 37 ATl DT 3T TS UMt & AT 73T 2 1'- o 3R Ha?

ANSWER:

3T & T | AT doll J T R TET & WRd 39 WA 3 §gd g +ff fan 81 uewr 39 unifa &1 gad
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Question 6:
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ANSWER:
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7| TR d9 Qg &1 Ufehal agd gt He | S-S A% &1 fasr gian T, S99 USphfd 1 glg doll J AT
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Question 7:

eRIT T ATATaRY TRH 1 BT 8T 82 S8 Y 3R AR o1 a1 Yftest g2 fowoh S|

ANSWER:
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Question 1:
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ANSWER:
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Question 2:
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ANSWER;
AT A Id gl U 9™ & o she a1l [T §1 39 A fa3F & Ty 9 3 SfTShR by, sHd Tt
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Page No 48:

Question 3:

UYTaRUT ] fIT=1 § S & T 3170 o1 6% b 82 I P4 ST off JobdlT 87 30 faaR forau|

ANSWER:
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Ell |

EMM

QL. Explain the market phases of NEAT system.
Q2. What are the contents displayed on NEAT screen?

YOGA
Q1. What are symptoms and causes of Diabaties Mellatus?
Q2. What are exercises of Diabaties?
Q3. Where is cervical spondylitis located?
Q4. What is the procedure of yoga practitioners in Hath Yoga?



PHYSICAL EDUCATION
Physiology and Injuries in Sports
Q1- Flexibility is not determined by which physiological factors?
(a) Muscle strength
(b) Age, gender
(c) Injury
(d) Aerobiccapacity

Q2- Match the following

1. Speed A. Age/gender
2. Strength B. Aerobic capacity
3. Endurance C Musclesize
4. Flexibility D Explosive strength

A. 1D, 2C, 3B, 4A

B. 1C, 2B, 3A, 4D

C. 1B, 2D, 3A, 4C

D. 1A, 2B, 3D, 4C

Q3- Discuss the physiological factors, determine the strength as a component of physical fitness?
Q4- Describe the physiological factor determine the speed?

Q5- Explain the five effect of exercise on the cardiorespiratory system.

PAINTING

TOPIC-SKETCHING (HUMAN FIGURE GESTURE)

Sketches are typically created as preliminary drawings in order to prepare for a more finished work of art. Sketches
are typically created with quick marks and are usually lacking some of the details that a finished drawing may have. A
sketch may serve a number of purposes: it might record something that the artist sees and also it might record or
develop an idea for later use. Sketches can be made in any drawing medium.

Gesture sketching is an exercise to get our hands to move quickly in a limited time to capture the different gestures
or postures of human figure.

EXERCISE

Make sketches of some human figures by watching and observing them lively. Minimum ten sketches to be done in
pencil or pen

THINGS TO REMEMBER WHILE YOU DRAW
1. Focus on the overall shape instead of the details.
2. Use a gentle amount of pressure.
3. Observe the size and proportion.

4. Focus on anatomy.



ASSIGNMENT - CLASS -12  BIOLOGY
1. Draw a schematic diagram of lac operon in its “switched off “ position . label the following :
I] The structural genes ii] Repressor bound to its correct position

lii] promotor gene iv] Regulatory gene

2.write full form of ;-
1] SNP’s
li] BAC

lii] YAC

3. What ate UTR'’S ( Translation)

4.Differentiate between VNTR AND PROBE

5. a] Name the molecule ‘X’ synthesized by ‘I’ gene. How does this molecule get inactivated?
B] which one of the gene codes for the structural gene BETA galactosidase

c) when will transcription of this gene stop?

lac imBMNA

/

o

Inactive repressor



ASSIGNMENT
CLASS - XII CHEMISTRY (coordination compounds)

Topic:- Nomenclature of coordination compounds.

1. What I[UPAC names of following complexes?

© © N o g kM 0w DR

[Co (NHy)e]**

[Fe (GO3l*

[Ni (CN)]*
[Pt(NHs)s Clo]**
[NiCl,]*
[Co(NHs)s ONOF*
[Co (NH;)sCIICI2
[Cr (CN) (HO)s]*"
[Co (NQ)e*

10. [Co (en|Cl3

2. Writeformulafor the following compounds.

© © N o g M w Dd R

Hexammineplatinum (V1) Chloride

Potassium hexacyanoferrate (lIl) ion
diamminedichloridoplatinum (111) ion
Tetramminedichloridocobalt (I11) ion

Annine chlorobis (elhylenediamine) cobalt (111) ion.
Hexaamminechromium (lll) hexacyanocobaltate (111)
Pentramminenitro —N- Cobalt (1l1I) Chloride.
Pentramminebromidoocobalt (Il) sulphate

triamminediaquachlorocobalt (1) Chloride

10. Tetramminedichloridooplatinum (IV) Bromide



INFORMATICS PRACTICES
1.Given a Pandas series called Sequences, the command

which will display the first 4 rows is__.
a. print(Sequences.head(4))

b. print(Sequences.Head(4))

c. print(Sequences.heads(4)
print(Sequences.Heads(4))

2.Given the following Series

S1and S2: S1 S2
A 10 A 80
B 40 B 20
C 34 C 74
D 60 D 90

3.Write the command to find the sum of series S1 and S2
4.1n a DataFrame, Axis= 1 represents the___elements.

5.Consider the following DataFrame df and answer any four
questions from (i)- (v)

rolilno  name UT1UT2  UT3 uT4

Prerna Singh 24 24 20 22
2 Manish Arora 18 17 19 22
3 Tanish Goel 20 22 18 24
+  Falguni Jain 22 20 24 20
s Kanika Bhatnagar 15 20 18 22
Ramandeep Kaur 20 15 22 24



6.Write down the command that will give the following
output. a.  print(df.max) b.  print(df.max()) c.
print(df.max(axis=1)) d. print(df.max, axis=1)

7.The teacher needs to know the marks scored by the student
with roll number 4. Help her to identify the correct set of
statement/s from the given options : a.
df1=df[df] ‘rollno’]==4] print(dfl) 1 Page 5 of 14 b.
dfl=df[rollno==4] print(dfl) c. df1=df[df.rollno=4] print(dfl)
d. df1=df[df.rollno==4] print(dfl)

8.Which of the following command will display the column
labels of the DataFrame? a. print(df.columns()) b.
print(df.column()) c. print(df.column) d. print(df.columns)

9.Ms. Sharma, the class teacher wants to add a new column,
the scores of Grade with the values, * A’, ‘B’, ‘A’, ‘A’, ‘B’,
‘A’ ,to the DataFrame. Help her choose the command to do
SO: a. df.column=["A’,’B’,’A’,’A’,’B’,’A’] b. df
[‘Grade’]=[’A’,’B’,’A’,’A’,B’ A’ ¢ dfloc[‘Grade’]=
[’A’,’B’,’A’,A°,’B’,’A’] d. Both (b) and (c) are correct

10.Which of the following statement/s will give the exact
number of values in each column of the dataframe?

i. print(df.count())

ii. print(df.count(0))

iii. print(df.count)

iv. print(df.count(axis="index’))

11.Consider a given Series , M1: Marks Terml1 45 Term2 65
Term3 24 Term4 89 Write a program in Python Pandas to

create the series



12.Write a program in Python Pandas to create the following
DataFrame batsman from a Dictionary: B_NO Name Scorel
Score2 1 Sunil Pillai 90 80 2 Gaurav Sharma 65 45 3 Piyush
Goel 70 90 4 Kartik Thakur 80 76 Perform the following
operations on the DataFrame : 1)Add both the scores of a
batsman and assign to column “Total” 2)Display the highest
score in both Scorel and Score2 of the DataFrame. 5 Page 12
of 14 3)Display the DataFrame
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............................. 1s an example of Public cloud.

.................................. is a network of physical objects
embedded with electronics, software, sensors and network
connectivity.

—————————————————————— Is a device that forwards data packets along
networks.

—————————————————————— describes the maximum data transfer
rate of a network or Internet connection.

Give the full forms of the following

(i) HTTP
(ii) FTP
(v) VolP
vi) SSH

How many pair of wires are there in twisted pair
cable(Ethernet)?What is the name

of port ,which is used to connect Ethernet cable to a computer
or a labtop?

Identify the type of cyber crime for the following situations:

(i) A person complains that Rs. 4.25 lacs have been
fraudulently stolen from his/her account online via
some online transactions in two days using NET
BANKING.

() A person complaints that his/her debit/credit card is
safe with him still some body has done
shopping/ATM transaction on this card.

Gi) A person complaints that somebody has created a
fake profile on Facebook and defaming his/her
character with abusive comments and pictures.

Software Development Company has set up its new center at




Raipur for its office and web based activities. It has 4 blocks
of buildings named Block A, Block B, Block C, Block D.

Number of Computers

Block A 25
Block B 50
Block C 125
Block D 10

Shortest distances between various Blocks in

meters:
Block A to Block B 60 m
Block B to Block C 40 m
Block C to Block A 30m
Block D to Block C 50m

(i) Suggest the most suitable place (i.e.
block) to house the server of this
company with a suitable reason.

(i) Suggest the type of network to connect

all the blocks with suitable reason .

(i The company is planning to link all the blocks
through a secure and high speed wired medium. Suggest a
way to connect all the blocks.

(vy  Suggest the most suitable wired medium for
efficiently connecting each computer installed in

every block out of the following network cables:
« Coaxial Cable




¢ Ethernet Cable

« Single Pair Telephone Cable.

(a) | Which key word is used to sort the records of a table in
descending order?

(b) | Which clause is used to sort the records of a table?

(c) | Which command is used to modify the records of the table?

(d) %thlic?h clause is used to remove the duplicating rows of the
able”

(e) | Differentiate between Primary key and Candidate key.

OR
Differentiate between Degree and Cardinality.

(f) | Differentiate between Django GET and POST method.




